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I. Question No. 12 

II. Objections: Objection in PULEET Q12. The Correct answer is (C) 37.5% 

III. Remarks: Objection is valid and key Changed to Option “C” 

 

 

I. Question No. 23 

II. Objection/s: the answer key marks option D (25%) as correct. However, after careful 

calculations it is found that the option C (75%) is correct.  

III. Remarks: Objection is not valid /Key is correct. 

 

I. Question No. 38 

II. Objections: objection against question 38 in Johnson mod 12 counter the number of flip-flops 

are 4 because when we have count up 11-by 2n formula n=4 12 states are valid rest are not 

thats why ans is 4 flip flop. 

III. Remarks: Objection is not valid /Key is correct  

 

 

I. Question No. 61 

II. Objections: Correct answer is option A 

III. Remarks:  Objection is not valid /Key is correct. 

 

 


